45 2159 do] | 45+ A&
(1) 21.98 cm 7cm
(2) 37.68 cm 12cm
(3)31.4cm 10 cm
(4) 12.56 cm 4cm
(5) 18.84 cm 6 cm
@ 3.141 @ 3.1416 ® 3.142

@®)3.14 ® 3.1

21.98 + 7, 37.68 + 12, 31.4 + 10,
12,56 + 4, 18.84 + 6
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® A& 4cm

@ A& 2.5cm

® A& 6cm

@ A& 2.3cm

® A& 12.56 + 3.14 = 4(cm)
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@15.7m ® 314m

2P E 5 2Reng, 294 59 Zolo 5 w7t Hyrt
w2hA 1x3.14 x5 = 15.7(m) Ytk




® Z&°] 10ecmQ! ¢ @t‘ﬂ-x]%o] 10cmel ¢
® YF7}31.4cemsl ¢ @ 7A20] 12cmel ¥

® ®WAE°] 6em?l ¥

B

25 AE) A 2717t 2 5 2
@ AF : 10cm
@ A& 10x 2 = 20(cm)
® A& 31.4+3.14 = 10(cm)
=
j=
=

i

At

*12cm
® A& 6x2=12(cm)




8. o Sd0] Zol7}188.4cm 91 Y] WA B O] Lol B emYUi7H?

@ 10cm @ 15cm ® 20cm @ 25cm @300m

(99 E9) = 2x(9 2 €A E) x3.14
188.4 = 2x (¥9] ¥kA]E5)x3.14
kAl o] 9] 52 188.4 + 3.14 + 2 = 30( cm) YU Tt




277} 53.38cm?) Y WAL Zolt E emPU7H?

@ 8cm @ 7.5cm @S.Emm
@ 17cm ® 3.14cm

B

(¥F) = (A8) x3.140|2=2
53.38 = (A 2) x3.14 YUYt

(A%) =53.38+3.14 = 17(cm) 0|22
2] 2 9] Aol 8.5cmYYtt.




10.

HF2]50] 6 cm?l 9] YF+= A5l 8eml YO HF2] H wjdy7}?

© @ 19 ® 2
@13 ® 2L W)

B \

(HF2E°] 6 cmQl 9] ¥F)= 6 x 2 x 3.14 = 37.68(cm)
(Z&°] 8cm®Ql YOl ¥F) =8x%x3.14 = 25.12(cm)
3768 3

1
- = - - — — _ —1—_(nv
37.68 + 25.12 = 3768 + 2512 5512 2 12( H)




11.
e, of® grrzgo] HAEU7E

HEzFo] 7.5cmel 9] ZHE 7.85 cmM Hgo] thro] 4

® AN @ Ho7t3g ©FERL
@ w7y ® A4l
9] E0] ol
7.5X2x%3.14 = 47.1(cm) ©] 1L
47.1+785=6°]02
% A8 7kgo] Yt

Ao & 6 T "= 0le




Eo] 40cm@l BHFASH A Bol7} 628cm 91 WESL T 2o
Axo] B3 GgUth w1750 W W WEL @ uh] £
=

® 12 v} @)10 171 ® 81
@ 6] ® 1117

B

"7 508 B B 2390 AfE

40 % 3.14 x 50 = 6280( cm) 7} ¥ 12

3 E o] Zo]7} 628( cm) O] B2

HE X 6280 + 628 = 10(8H) A Yt




